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Thshructions:  Fallowing the example handout; fill inthe blanks above. Then rvpmduce—(ke,
example graphic with 8\ & then .B\,B;;)‘Then use a ruler 4o create the new 4%4 grid of
“unik Pam“elogmms " formed with cdges b,,E’Z and thew translated vechors as inthe @xample
Draw inthe "Ui,y; axes on this grid and label them. Then graphically locate and draw
nthe posthon vedors of port 4 using the X~gid and point2 using the y-gnd. Cenfirm
that the dther coohinates you read OH‘? from the d‘bergzdal agree wiy your compu-hhoh above.

Vow’*gmph should have 4 vector amows representing oy > Pz, a, b



